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01 AIR22|t] 30,000 31,600 A 1,600
O0ts=X2HZuE SSAEIA X3
30,000,000 30,000
= 30,000
02 B2=224gH| 15,000 10,000 5,000
OotsEXAH2duN=s SSAHIA K&
15,000,000& 15,000
= 15,000
03 #HAI2EHI 25,000 20,000 5,000
O0ts=X2HZuE SSAMEIA X3
25,000,000& 25,000
= 25,000
202 (4 i 5,000 4,000 1,000
= 5,000
01 2Wobl 5,000 4,000 1,000
O0tssEXNHLNE SEAHIA K&
5,000,000 5,000
= 5,000
301 et A= 118,600 111,000 7,600
= 118,600
01 AIIB& & 2562 93,000 95,000 A2,000
O0tssENAHLdNE SEAHIA K&
93,000,000 93,000
= 93,000
10 HAIAHIBEAZ 22,600 13,000 9,600
SSXAHZNE SEAMHIA X3
22,600,000& 22,600
= 22,600
12 JIEt2 A2 3,000 3,000 0
O0tssEXNAHLNE SEAHIA K&
3,000,000 3,000
= 3,000
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SA: ASI =X D
HH: B8 U OIS=X MUIA ZE(AMEEN/ES - HEL0A)
ool OISARSH (Sl #)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 il b o B2
307 2I2H0I 35,000 45,000 A10,000
2 35,000
NIEEEEET 35,000 45,000 £10,000
OOESXALRE SSHAHHIA XL
35,000, 000& 35,000
= 35,000
405 XtobE SHI 3,000 10,000 A7,000
= 3,000
01 T =SS HSHI 3,000 10,000 A7,000
OOESXALRE SHAHHIA XL
3,000,000& 3,000
= 3,000
ZHESOHSZIIML MBI 41,233 64,426 N23,193
= 28,863
= 6,185
Al 6,185
307 2I2H0I 41,233 64,426 £23,193
2 28,863
= 6,185
Al 6.185
10 At2ISXEX 41,233 64,426 223,193
O2HMds0ts £IIHY MHIA 41,233,000 41,233
= 28,863
= 6,185
Al 6,185
2230t 188 24 N& 41,128 38,716 2,412
= 16,452
& 12,338
Al 12,338
301 EtE4 = 41,128 38,716 2,412
= 16,452
= 12,338
Al 12,338
01 MIBIEE A =0dl= 41,128 38,716 2,412
O0R250ts 188 2% NA(1H2)
41,128,000& 41,128
= 16,452
& 12,338
Al 12,338
g - JIERAE0s delxlg X2 2,534 2,400 134
= 1,774
& 380
Al 380
301 LptEas 2,534 2,400 134
= 1,774
= 380
Al 380
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A ARSI
10

M 28 U
Cel: OISHESH (St &=
i} _ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
OZLOISAAUS AR AH A
1,500,000 1,500
307 QI2tolA 20,000 17,000 3,000
10 MEIEXIEX 20,000 17,000 3,000
OO02I0l & A X< 17,000, 000 17,000
OXS0tSHE Hstal LES XA (7THA)
3,000,000& 3,000
401 Al&HI LS 124,000 7,500 116,500
[~ 50,000
Al 74,000
01 Al&H] 124,000 7,500 116,500
OME0IE SO0l =AY 50,000,000 50,000
[= 50,000
O020ls0lE oA QEEe =017 &X -
nH -2 3,000, 0002 x230H A 69,000
OOISEXAIE JISEZAY AALH(MOH)
5,000,000& 5,000
Ols=2X A4 29H| 284,773 285,330 AB57
= 160,293
[= 11,521
Al 112,959
301 et A= 284,773 285,330 AB57
= 160,293
[= 11,521
Al 112,959
01 MIEHEE2E 2 284,773 285,330 AB57
O0tSE2X AL 2G(AOHH) 260,636,000 260,636
= 160,293
Al 100,343
OZEMX =% X (8Y) 20,800,000 20,800
[= 10,400
Al 10,400
OME X} =Jr24H X2 (30") 2,737,000 2,737
[~ 821
Al 1,916
OMEB X} Z=It2AH & 22H|(30H)
600,000 600
[= 300
Al 300
HAE B85 2 SH(MIEX/L0 - HAH) 1,326,197 1,987,895 661,698
= 42,000
pJ 244,960
=2 20,000
[= 178,140
Al 841,097
HAE HAESH 117,000 119,000 A2,000
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A A= XD
LR -PNE

o F3AadE AIERY (&9 HM
) _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
307 212t01& 7,000 7,000 0
10 Af2l=XIEX 7,000 7,000 0
OFAEINECRA &85 25+ XN
2,000,000& 2,000
OFAY Sollatd ZAISH 2HH| K&
5,000,000& 5,000
HAaE fEAd N3 2 &5 518,618 1,168,904 650,286
J| 14,220
= 20,000
Al 484,398
SSHAESEAE HAEXSZAM HIX XS 19,440 19,440 0
J| 9,720
Al 9,720
307 2I2+0| ™ 19,440 0 19,440
J| 9,720
Al 9,720
05 QIZtRE= 19,440 0 19,440
OFAY 239 & HAYE XITAF HHXI
19,440,000& 19,440
J| 9,720
Al 9,720
3 EAEsEANE T2 29 9,000 9,000 0
J| 4,500
Al 4,500
307 212H0| & 9,000 0 9,000
Dl 4,500
Al 4,500
05 DIZIREZ 9,000 0 9,000
oOFAH R3lo & Tz ) 29
9,000,000& 9,000
J| 4,500
Al 4,500
E3ANE 29 20,000 45,000 A 25,000
= 20,000
201 Et23d| 10,000 35,000 A 25,000
= 10,000
02 S=294| 10,000 30,000 20,000
OFAELEAAE 229 10,000, 000& 10,000
= 10,000
405 XH&HFE SHI 10,000 10,000 0
= 10,000
01 AL =SSFHSHI 5,000 5,000 0
O232e & ¢ 23dH 29 5,000,000& 5,000
= 5,000
02 AT 5,000 5,000 0
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SN AEST D
2 HAE 25 U SH(AS=X/=Q - FAH)
ool AW SRAE XY U BE

SA - HB B9 (E) - NRAY - Ba S 0f et o e DS
O=2ste & & S 28 5,000,000& 5,000
= 5,000
HAEANE 2l 470,178 527,464 A57,286
101 Q1A 12,283 31,464 219,181
04 JIZHZZ2ASE=> 12,283 31,464 19,181
OoFAEdEH ¥ 23AIE FHI
34,9103 x3H *10& 1,048
oFLE=232d & EatdH 22 11,235
oY 34,9103 » 18 »228L 7,960
ox=xteg 34,9103 « 12 =47 1,641
S P NE= 34,910 x1E»11 385
o=xs S 4UHEEE 9,601,000& *13% 1,249
201 Et=gH| 7,000 41,000 234,000
01 AtR2teld] 5,000 9,000 A4,000
oget+=2H| 5,000,000& 5,000
02 83224l 2,000 32,000 230,000
OXtgts et 2,000,000& 2,000
307 elztold 378,895 155,000 223,895
05 BIZtRE = 378,895 155,000 223,895
OXO0l= oEE8S &S AN 2YHl K&
3,000,000& 3,000
OfJEAE Hetud 238 XA
2,000,000& 2,000
OCYS-Net 2&HI XI& 2,000,000& 2,000
OFx~H HuE 2= HMAH X
2,000,000& 2,000
Od JIXM FYH(ZE - 2E) X
5,000,000& 5,000
OFAHSEAZHE EHO0IX 29
2,000,000& 2,000
OFAE &g L ACA BSEH X
2,000,000& 2,000
OEXNAE=s 57,935
SMEA HAESSXAME HA(7Y)
14,000,000& 14,000
od WFLAHSY) 3,440,000& 3,440
oc¥AE SR HA(BY) 12,375,000 12,375
o¥AE 25t & AA(2¥) 4,020,000 4,020
o=tz S 4UEEE 24,100,000 24,100
odAd 23dH ARY 186,960
cHdEE (1Y) 30,000,000& 30,000
o HAEXZAH(1Y) 25,920,000& 25,920
oz HAEIZAH3Y) 68,220,000 68,220
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A A= XD
HH: HAE B5 Y SH(ME=
= g

Chel: HAE 2RAE XY U BE (=CR-E
SA BB .S (BH) - MBEAY - B2 Of) & 04 ggi SmE=L
oxpP ASRE U HHACRY)
40,080,000 40,080
oHAW 259 & XNEZAH1H)
22,740,000& 22,740
OBAELHP A2 Y T2IY 29
20,000,000& 20,000
OFAHE 232 & AR ¥ Z=z08 29
6,000,000 6,000
OFAHE 2IHH 24 60,000,000& 60,000
Od3AHE 239 & 29 30,000,000& 30,000
401 Al&EHIZL 20| 55,000 0 55,000
01 Al&H| 55,000 0 55,000
OFAELEZ 2UHAIE B 30,000
STUAY ASTA 9 HE HADS
30,000,000& 30,000
OFAEL&HZ CCTV & X 25,000,000 25,000
405 XHAFSHI 17,000 300,000 A 283,000
01 MY S EF SHI 17,000 300,000 A 283,000
OFAEHZSEXRAMEH =52 15,000,000 15,000
oOFEAHE 319 & 2EFY 2,000,000 2,000
HAaE A¥3HAH =4 457 ,591 458,991 A 1,400
J| 156,246
& 141,643
Al 159,702
HaoE BS - A EAS 11,500 11,500 0
= 3,520
Al 7,980
201 et23d| 1,600 1,600 0
& 480
Al 1,120
01 AIR22|H] 1,600 1,600 0
OFAE BstEAY A& 1,600,000& 1,600
== 480
Al 1,120
301 et A= 9,900 9,900 0
& 3,040
Al 6,860
12 JIEIEA = 9,900 9,900 0
OFAHE BsthEAY K& 1,500,000& 1,500
o= 520
Al 980
OFAY I ESH(THSE)
8,400,000& 8,400
= 2,520
Al 5,880
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SN
XM ZH: X
(==l I (=}

el

At = X ot

[
2

=2
R
J2H

=z H

90,000

18,000
72,000

90,000

307 2120l &

= H

90,000

18,000
72,000

90,000

©
02
b
M
oh
i
!
0
[z
@
0>
00
om
Ho

&
9

0,000,000&

=

90,000

90,000

18,000
72,000

90,000

=z H

30,000

15,000
15,000

42,000

307 12t0ld

=z H

30,000

15,000
15,000

42,000

05 BI2t

um §
o
2 MM 2Y 3

0,000,000&

=

30,000

30,000

15,000
15,000

42,000

>y

80,000
40,000
20,000
20,000

80,000

307 2I2tol &

= Y

80,000
40,000
20,000
20,000

80,000

05 Q12+

oFLdE SSXNIMA 258 24
8

0,000, 000&

>y

80,000

80,000
40,000
20,000
20,000

80,000

02

A2EE2EHE 2

>y

121,600
54,000
54,000
13,600

109,000

307 2120l &

=N Y

121,600
54,000
54,000
13,600

109,000

05 QI2telEra

Ood =3tdle 2 12

1,600,000&

mn X

121,600
121,600

54,000
54,000

109,000
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SN At2l =X 3
A HA4d 25 2 SH(MISX/L0 - FHAH)
ool AW ME

— . o

HAE HE0H XY (crel @
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2

[ Al 13,600

¥Ad sei Z20e 29 124,491 124,491 0
p 62,246
= 31,123
Al 31,122

307 ©12+0I ™ 124,491 124,491 0
p 62,246
3 31,123
Al 31,122

05 BIZrRIE2 124,491 124,491 0
OFHAH SEHINZZI2 2% 124,491,008 124,491
p 62,246
< 31,123
Al 31,122

=PSEREEIPNES 232,988 241,000 18,012
= 42,000
p 74,494
= 36,497
Al 79,997

AW HOIYVE 29 3,000 3,000 0
p 1,500
Al 1,500

301 LEHE AR 3,000 3,000 0
p 1,500
Al 1,500

10 BAFAHI2 A2 3,000 3,000 0
OFAH HOAAAS 29 3,000,000 3,000
p 1,500
Al 1,500

HAHZRY2SYX 84,000 84,000 0
= 42,000
Al 42,000

307 ©12+0I M 84,000 84,000 0
= 42,000
Al 42,000

10 AHBI=XEE 84,000 84,000 0
OHAH ZRY SHHI(6)44) 84,000,008 84,000
= 42,000
Al 42,000

Had g% O30 145,988 154,000 18,012
p 72,994
< 36,497
Al 36,497

307 ©I2r0l ™ 145,988 0 145,988
p 72,994
= 36,497
Al 36,497
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SH: AEI=X D
HE: HAW 25 U SH(ASSK/=0 - HAH)
ool AW RN (el a2

SNBSS - MEAY - BES 0l &k 24

=1

R

121
==
El
i
oy

E=S 145,988 0 145,988
Ogdt= Oiztudlns 24 145,988,000 145,988
72,994

36,497
36,497

>y

SXJNSEL (A ER/HAHER ) 548,708 511,141 37,567

263,250
285,458

=M

SN2 2 548,708 511,141 37,567

263,250
285,458

=M

ARI=X2 2g K& 262,413 240,312 22,101

131,335
131,078

=M

307 G12+0l & 262,413 240,312 22,101

131,335
131,078

=M

10 At2ISXEX 262,413 240,312 22,101

OZ A2 =X2 2| 204,355,000& 204,355
95,090
109,265
OMIZ X SAHHE 23 bl 58,058,000 58,058
36,245
21,813

= [

=M

SEM=X2 2Y 189,005 204,355 A 15,350

88,885
100,120

=M

101 Q1] 11,235 14,175 N2,940

04 JIAHZZ2NHESE= 11,235 14,175 AN2,940
O&A22 11,235

34,9103 »1H 228 7,960

34,910 x1H»47L 1,641

34,910 x1E»11 385

S 4dU2E= 9,601,000 *13% 1,249

ju |
[a—
i

o

0
re
0

0
valgpal
UL

o

=]
A
_l_
A
M
o

0
W 4
>

o

0
:
o

no
2
e
e
H0
02
=

86,480 74,280 12,200

43,240
43,240

=M

01 AtR2teld] 30,780 30,780 0
OZA=X2 2 30,780,000 30,780

15,390
15,390

55,700 43,500 12,200
55,700,000& 55,700

27,850
27,850

02
=M

0K
H0
02
=

© o
0K
o
>
ol
J
b
il
Ho
02

=M
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S A= XD
Ha: SXDIPES(ABISX/HAHSKE)
ool =X 29 (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
301 B A 91,290 35,900 55,390
= 45,645
Al 45,645
01 At B X453 3,750 2,200 1,550
OMIIZX BAME 2 3,750,000 3,750
= 1,875
Al 1,875
10 SAAHI 243 4,500 3,000 1,500
OMIIZX SAHE 2 4,500,000 4,500
= 2,250
Al 2,250
12 JIEtR &2 83,040 30,700 52,340
OBB A=Y 2Y 83,040,000 83,040
2 41,520
Al 41,520
HEAs=T2 29 97,290 66,474 30,816
= 43,030
Al 54,260
101 Q1248 11,235 10,974 261
04 JIAH22RSES 11,235 10,974 261
ONSASI =R e 11,235
ool 34,9102 +15 %2282 7,960
oFxtag 34,9102 %19 #4772 1,641
QIR g 34,9102 111 385
o20INZ S AWSEE 9,601,008 *13% 1,249
201 Y2y 37,455 35,500 1,955
= 8,730
Al 18,725
01 AFR 22/t 22,105 22,110 A5
ONEAS=RD 2 22,105,000 22,105
= 11,055
Al 11,050
02 T2l 15,350 13,390 1,960
ONMSAEI=T 2 29 15,350, 0002 15,350
= 7,675
Al 7,675
301 YerEA3 48,600 20,000 28,600
= 24,300
Al 24,300
12 JIEt2 A 48,600 20,000 28,600
ONEASZND 2 48,600,000% 48,600
= 24,300
Al 24,300
S AFHI(AISI =X D) (IIEHIIE) 129,350 163, 102 33,752
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AAYI(AFSI =2 X D) (D1EHIIEH

;HI ched A
CEB L C(B) - HRAY - A Aol e =2
G229l 54,150 90,302 A36,152
S 2| 54,150 90,302 A36,152
101 er4d| 54,150 90,302 A36,152
3 RIAHAIZAE S 54,150 90,302 AN36,152

ogelFzs=sXa 22(19) 15,503
SPIR=t= 38,8503 19 249 9,674
SE =) 9,674,000& *4/12 3,225
ocR=sdrY 38,8503 x1H x52 2,021
ocHXtxY 38,8503 x1H x15¢ 583
Ost&HE Ze2l(1Y) 38,647
SPIR= 12,510,000& 12,510
oJ|gdg 19,350, 000& *4/12%50% 3,225
oc¥2Y 19,350, 0003 *2/12*38% 1,226
cESYURY 90,0003 x1HE*12& 1,080
ocXAETA+Y 70,0003 x1HE «12& 840
cIIEsY 960
— Ui Xt 40,0003 1+ 12& 480
-E=5 20,0003 x18+12& 240
-l 20,0003 x1E*12& 240
cHXRERII==Y 914,000& 914
ocxd22E 2,902,000& 2,902
oAt 2R+ 3,853,000& 3,853
oA GAH| 160,000 x1H «12& 1,920
o JtHIE = 110,000 *1Z 123 1,320
cuwEE Al 140,0002 19 » 123 1,680
o Xl gl 19,350, 000& *5/12%50% 4,032
o HAEFIH| 19,350, 000& *2/ 12%60% 1,935
SIEE1.] 250,000& 250
|23l 75,200 72,800 2,400
Jle=3| 75,200 72,800 2,400
201 LBt H| 11,000 11,000 0
01 Al2 22l 8,000 8,000 0
OgBt=EZH| 6,000,000& 6,000
o=z gl 2,000,000 2,000
2322l 3,000 3,000 0
OS2 LA 3,000,000& 3,000
04l 60,000 57,600 2,400
=L bl 60,000 57,600 2,400
O2UHEHNWHI 200,000& *25F x 123 60,000
R F Y| 4,200 4,200 0
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AT MEISX
M HHEIZHI(AISISXID) (JIEHIIEH
el: J1=2&l

SMN-HHM .. AHA(SH) - MRAY - BES (il & OH a4 T
. (=] i o ) ° . (= =5 0:”/|l|,%
04 EARISRFEH 4,200 4,200
OFN2E PRFAHI 350,000& = 12& 4,200
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